2. Add one thousan
3. The train left Sligo

4. 0 can be written as oo,
. What fraction of 1

6. Add together the

7. 3 of 500, :
. Will a toothpaste tul

% What three euro n
Dot in the lines |

(there are twol).

10,




4. If two slices of

™~ o ;

. How many kilor

10,

mn—ODOfOl:I

How would 5to 1 b
Is 500 < 99 x 57

what will 3 slices CC
How many cent in
Which letter is not
What four coins
A glass holds 2
be needed to fill :
(Remember; 10

(Remember: 5 mi
What is the area -.

e




1. 6= 0 or 0.
2. Write four letters of the alphabet which aré symm.etrl.cal.-= |
3. Which shape has the most sides, a rectangle, a pentagon

or a hexagon? Rve o
4. Add together the odd numbers between 44 and 48. -
5. If three pairs of socks cost €9 what is the cost of two pail
6. You get three “chews” for 20 cent.
How many should you get for a two euro coin?
7. 9 cent = 0:L_] of €1.
If | cut 18cm from half a metre of ribbon,
how many centimetres are left?
9. How many hours of the day have gone at
8 o’clock in the night?
10. Is the “stop” sign a rhombus, a pentagon,
a hexagon or an octagon? i




. My s:ster s 15th blrthday was yesterday.

In what year was she born?

. What number is half way between 17 and 257

. If 50g of cheese costs €1, how much will 2509 cost?
. What is the cost of two footballs at €2.99 each?

. This 3-D shape (solid) isa __
(triangular prism, octagon square pyramid, sphere) |

. What fraction of a day is 12 hours?

. What four euro notes make €125? |
. Geraldine bought batteries in the shop. If she gave in 85;_;
got 21 cent change, how much were the batteries?

) lt takes D&d‘ taan minutes to walk 1km )

ssa ' ff:ﬁmshu at 4, 35
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1. What is “1 mini :
9, How many milfilit
3. If 8 shrubs c‘-- i

4. 1 05 =1 +D
6 What four eumi 0

7. Take a thousand .
8. A carpenter pays *

What will he pay




